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1998 1999 2000 | 2001(p) | 2002() | 2003(e)

(%) -6.7 109 9.3 30 6.2 5.7

10,100

1 GNI($) 6,744 8,595 9,770 8,900 9,500

10,300

(%) -10.1 94 6.7 37 65 5.8
(%) -11.7 11.0 79 4.2 6.7 59

(%) 21.2 37 114 -1.7 70 8.1
(%) -10.1 -10.3 4.1 5.8 6.9 4.7

(%) -38.8 36.3 35.3 9.8 74 12.0

(9 404 245 122 86 60 09
(9 390 239 118 95 79 30
(9 1,323 1437 1,723 1,504 1,640 1,750
( (%) (-2.8) (8.6) (19.9) | (-12.7) 9.0) 6.7)
(9 933 1,198 1,605 1411 1,561 1,720
(%) (355) | (284) (340) | (-12.1) | (10.6) (10.2)

( ,% 75 0.8 23 4.1 30 35

1,210 1,190

$ ( ) 1399 1,190 1,131 1,291

1230 | ~1,210

( 12.9 7.7 8.3 5.7 6.1 6.4

, %)

(%) 6.8 6.3 4.1 37 3.1 29
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